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Directions :
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(iv)

(v)

There are in all 26 questions in this question paper. All questions are
compulsory.

et &g FreiRa o 35 wwpa aifted 2

Marks alloted to the questions are mentioned against them.

TS 2 Bl LAY Ufed T Fgfti FoR S|

Read each question carefully and answer to the point.

e T 1 §gfddedd U9 &1 39 59 & s WUE & 3% N IR ey ) Mo
€| el facbeg 31T ITRyRad! # foiaw| e e 2 3 5 7 Fiad 3k e &
Question No.1 is multiple choice question. Four options are given in
answer of each part of this question. Write correct option in your answer
book. Question No. 2 to 5 are definite answer type questions.

e T 1 BT GUS WUS U 3 Bl 8| Yo W1 2 J 5 9% U 3ich & T
& 92 =T 6 | 15 TP Al 37 b U &| 9T T 16 W 23 db & 31 B

| YT £ T 24 W 26 G TR 37 & 52 &, ST yee wemm 26 /A

(vi)

3menRd ue 2|

Each part of Question No. 1 carries one mark. Question No. 2 to 5 are
of one mark each. Question No. 6 to 15 are of two marks each. Question
No. 16 to 23 are of three marks each. Question No. 24 to 26 are of
four marks each, in which Question No. 26 is Case/Source based
question. '

T UH-UF § 90T R DTS fdbed Tl & a2t siaua ug=t § siaRe e e
fobar T §1 O el § Padt U fabed 1 & IR Al

There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only one of the

given choices in such questions.
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(d)

(1)
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SRR AoB, 3 FRIGRE o FFeal § IR 1 gfg dRA W Sfufcsar of o & I
2 S 21 3ififear B P @ - 1

In reaction A—B, the rate of reaction is doubled on increasing concentration
of reactant four times. The order of reaction is-

(- 172 (i) 2 (iii) 4 (iv) Zero

= 3§ 3 9 el faeom @ smafid &l SR - 1
Which of the following does not reduce Fehling's solution - :

(i)« CH,CHO (i) HCHO (i) CH,COOH (iv) HCOOH

wﬁwaﬁﬁma%wémﬁmﬁﬁﬁﬁﬁmmmmm
fopar S & -

A Grignard reagent is prepared by whose reaction on magnesium in presence
of dry ether-

@)+ G,H:OH (i) C,H.CI (i) C,H, (iv) C,H.CN

g % I fras e o &% SRe B 7 3G & - 1
Which one of the following has maximum value of Van't Hoff Factor —

(1) KSO, (i) NaCl (i) MgSo, (iv) KCI

10 T T FEARYBH B R80T Y IS KOH & 1o T &’ WR 9T 8 aerl Al
- 1

The compound obtained by heating a mixture of 1° amine and chloroform
with ethanolic KOH is -

(i) vuitpa AAES | (i) ©HASS

Alkyl cyanide Amide
(iii) Ui ERES (iv) 3 & D15 el

Alkyl isocyanide None of these
e & & uforgreera 3meE @ - 1
Which of the following is diamagnetic ion -
(i) Co?* (i) Niz+ (i) Zn?* (iv) 3 T (All of these)
afE cuso, e ¥ 96500 Fei e watea @1 STl 1 Ug b HYM- 1

If 96500 coulomb of electricity is passed through CuSO, solution, it will
liberate-

(i) 63.5 T qral (i) 100 ¥ dfar

63.5 gm copper 100 gm copper
(iii) 96500 UTH dfaT (iv) 9 I P &

96500 gm copper None of the these
[Mn(CO).SCN] @2/and [Mn(CO),NCS] &/are - 1
(i) =R qHEEadr (i) IUGEHAISH THETAr

Linkage isomers Coordination isomers
(i) 3= THEEadar (iv) T I

Ionisation isomers All of these
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R - e HAT-1 & 3Tt &1 WSl #, & BT B BT (A) T BRUT (R) & w7
4 fafea foar men 21 FreafeRaa faesedt (i), (i), (i) @2 (iv) & TG 30T
TE 3R afrel
Direction: In next two parts of Question No.-1, there are two statements labelled
as Assertion (A) and Reason (R). From the following options (i), (i),
(iii) and (iv), select their correct answer.
(i) ATATR A TG & TAT R, A B T& AT HAT
Both A and R are correct and R is the correct explanation of A.
(i) AT RS Fel & WReg R, A B F&l AT 98 =T 2
Both A and R are correct but R is not the correct explanation of A.
(iii) A W& & Ry R e &l
A is correct but R is incorrect.
(iv) A g R SF1 Ted &)
Both A and R are incorrect.
() 3RB (A) : FPIS B ST ATGC 34 AR BT R Beea 2
BRI (R) : PIol UB SISHDRIES 2 1
Assertion (A): Hydrolysis of sucrose is known as inversion of cane sugar.
. Reason (R) : Sucrose is a disaccharide.
(37 B (A) : 340K W NaOH & ufeify ¥ B & aeRIets $ amer SR
¢ siffsan ¥ g e & wu § Aerifeass avar &
BRI (R) : Ig HHIHAT SETARIBET Jegad! & foRaT gRT &l 21 1
Assertion (A): Reimer-Tiemann reaction of phenol with chloroform in
presence of NaOH at 340K gives salicylaldehyde as the
major product.
Reason (R) : The reaction occurs through intermediate formation of
- dichlorocarbene.

2. HIeR IiAdbdl B SI HEd 91 82 1
What is the SI unit of molar conductivity?
3. R = & ofif Hifswe - 1

Rz a e e SRt wwer: fefm ... afefe ... S ef A ad &
Fill in the blanks: :
Rickets and Night Blindness are the disease caused by deficiency of Vitamin

and Vitamin respectively.
4, qﬁé&mqmaﬁmﬁzﬁﬁﬁa(m)qmaﬁmﬁwmaqaml 1
Write formula for co-ordination compound Potassium trioxalatochromate (III).
5. T faeaw & uide ufa fafera (ppm) amear @ & &2 1

What is parts per million (ppm) concentration of a solution?
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10.

1=

1:27

13:

14.

T S AR (Pad TP THIGROT EifSTe) - 1x2=2

How will you prepare? (Give chemical equation only) -

() UERIERe ¥ K,MnO, (@) |faw sEHic ¥ UCRITH SEHHT
K,MnO, from pyrolusite Potassium dichromate from Sodium
; : dichromate
of% v oo o & 0.5 oRTeR @) g 2 guet & fore varfed @l @ dF AR | 9 fo
gIaR YaTed gir? 2

If a current of 0.5 ampere flows through a metallic wire for 2 hours, then how
many electrons would flow through the wire?

Roet Riera & fo10 AT € A SR sraeH, e # Aoy & Hier-3fer $ aRIE” gl
3 safs et & aTwRid &, e o gy & Mg difoel 2
Derive an equation to prove that relative lowering of vapour pressure for a
solution is equal to the mole fraction of the solute in the solution when the
solvent alone is volatile. '
S gRadT B g Y 5T G &9 (Paet IS FHER0T o) 1x2=2

How the following conversions can be carried out? (Give the chemical equation

only)
() ST F WOF A5 (@) FERS  SEHEd
Bromoethane to propane Nitrile Chlorobenzene to Diphenyl
=1 @1 aRanfya @ifse - 1x2=2
Define the following -
(®) Fed A (@) ¥grT AR dTeiddl
Fuel Cells Limiting molar conductivity
ARRIIRIES T UeRIBRISS @ 3TEx0T Hied JHesd| 2
Explain Monosaccharides and Polysaccharides with example.
3gar/OR
B § TR ST @ IR YBR B RNA BiF-aH 3 €7 3w il 2
What are the different types of RNA found in the cell? Mention.
(@) FrRiRad B 396 RO Yaerdl & ded HH H TaRd Hifofe- 1
Arrange the following in increasing order of their basic strength-
C HNH, (€H.), NH; (EH)N , C.HNFH;
(@) ofreie, Wea-erey sfifar weffa 78 $=dl 81 SRoT aasel 1
Aniline does not undergo Friedel-Crafts reaction. Give reason.
Y T 298K § 10K B afig 8N W Imafie affsar &1 am & AT 81 31 &1 st
& fore E, o oM Pl (R=8.314 JK'mol) . 2
The rate of the chemical reaction doubles for an increase of 10K in absolute
temperature from 298K. Calculate E,. (R=8.314 JK*mol™?)
o= afifiear @1 e aHieRor afed THegd- 2
Explain the following reaction with chemical equation—

Hicd

Kolbe's reaction

frae & wiea-ore efead

Friedel craft's acetylation of Anisole

312dar/OR

430 (IIV) [4]



15. Wagd w0 Aot T 22 gda & s T e & forivs § qur aeR 20 2
What is spectrochemical series? What is the difference between weak field ligand
and strong field ligand?

A fed T e R AR Sifse ik srenfoled seel & R e 2

Consider the figure given below and answer the questions that follow:

Zinc Plate

(i) BeldgH & YaTg @f faen sarge|
State the direction of electron flow.
(i) FeR wie, Ts 3rar s, Far &
What is Silver plate, anode or cathode?
(iii) afe e7aor Jg gel fear s ar o dm?
What will happen if salt bridge is removed?
(iv) FFIERI R E_, & I o1 8NP
What will be the value of E_, at equilibrium?
) Tl faeras ®F anciar oA & T T el 27 ' 1
Why does the conductivity of a solution decrease with dilution?
17. = & 99w - <33
Explain the following -

amest faeoe

Ideal solution
) 3TUTHE TOTeH

Colligative properties

() A T ReRie
Molal Depression Constant

18. ®HRUT 1S -

Give reasons -

(@) [NiCl,]> sgRda & @i [Ni(CO),] TRy &, waf A sqwpeda %’:l
FT?
[NiCl,]?>- is paramagnetic while [Ni(CO),] is diamagnetic though both are
tetrahedral. Why?

430 (V) [5] [P.T.O.



(@) [MAX,] TOR & Tquhcaid Foa ST M $0d o 3a aer A 9 X fafie soR
ésw%ﬂvg’s‘ ¥ safdia FHIagadr 999d T8 ol ai? | 1
Geometrical isomerism is not possible in tetrahedral complexes of the type
[MA,X,], where M is central metal ion and A and X are different types of
unidentate ligands. Why?

311dr/OR

mmﬁm(vm) %mwﬁwmmﬁmﬁ%ag@aﬁa

o1 @ fadTET HifsE - 1%2x2=3

Discuss the geometry and magnetic character of the following coordination

entities on the basis of Valence Bond Theory (VBT)-

(i) [Fe(CN)gI* (i) —[C€ok ]

19. (&) WWDDTHWWHWWWI 1
Write the structural formula and chemical name of the polyhalogen
compound DDT.

(@) P gm & F B @ difie daa ¥ S, 1 slifar s sk F e 2
Which compound would undergo S,1 reaction faster in the following pair
and why? ?H3 '

CH.EH Br and -H.C=C== CH,
20. ®RUT §disU : I!%r 1x3=3

State reasons :

TR B FISTelidRuT @ 3 FIHAT & HH 30>20>10 BT Bl

Relative ease of dehydration of alcohols is 3°0>20>10,
@) WHFT B 3NeT P B I 81 &

Cresols are less acidic than phenol.
(1) WAREAST B o § v P FIHID Ied Bl ¢

Boiling point of ethanol is higher than methoxymethane.

3AYar/OR
s, fdue dun qaue Tepieiel & ANEIPRUT &g BN WISl FT &2 FHesel 3
What is Lucas test for distinguishing primary, secondary and tertiary alcohols?
Explain.
21, fre wm-aiffeanett & IafNE THER0T aaR FHEISE-

Explain the following name-reactions giving chemical equations- 1x3=3
(@) b aifdifesar

Stephen Reaction

) el arffhar

Haloform reaction
(M) TR 3T
Clemmensen reduction
3rar/OR
3y B oRads Y HA? (Faa IR THieRer Afse) - 1x3=3

430 (IIV) (6]



How would you make the following conversions? (Give chemical equations only)-
(®) e ¥ Fofearee

Toluene to Benzaldehyde
(@) of , I

Formaldehyde to Methanol
() TS 3 o

Ethanoic acid to Ethanoic anhydride ;

22. muthe, fgdiad vd Jaae Ml & vean &g et wiemr @1 aof Siswl ik

sfferamst & Iame gHie]or o fRau| 3
Describe Hinsberg test for the identification of primary, secondary and tertiary
amines. Also write the chemical equations of the reactions involved.

23. o1 €1 2 51§ D-ge = sifredel § fsar a=ar - 1%3=3
What happens when D-glucose is treated with the following reagents-
(@) HI (@) §HE S () HNO,
Bromine Water
3Aadar/OR
=1 &1 TS 1x3=3
Explain the following- :
(®) TSaex 3= (@) gfaasiess () TAEHNTES! g€
. Zwitter ion Nucleotide Glycosidie linkage
24. (P) ﬁm;m'aﬁqﬁ?mﬁa'sﬁ?'ma%m'asmﬁﬁm%‘l ififeean & ife
T 8° 1

Following graph is a plot of the 'rate of a reaction’ vs 'concentration of the

reactant'. What is the order of the reaction.
/|

Rate (&)

Concentration (Hr=dn)

(@) INEG HHAT B R B THIfad A a0 BRBT BT GAT F qu DfSEl 3

Describe briefly the factors affecting the rate of a chemical reaction.
3di/OR

= @1 s -

Explain the following -

(®) uuEr dug 1
Effective collisions

(@) fpaor it 1
Activation energy

(M) B\ yom Pife arfrfsean 2

Pseudo first order reaction

25. () 3idRImRN diffie oor €7 3amxur & &5 ; 2
What are interstitial Compounds? Give example also.

430 (ITU) [7] [P.T.O.



(@) fr sl & goagite o faieae- . 2
Write the electronic configuration of the following ions-

(i) Cut ‘ (i) Ce
31gar/OR

frt 1 BRT TARe - 2x2=4

Give reasons for the following -

(@) SRS 3ETH B qer 3 U A 3 gER dcd & g effeAias g 3t & &
Actinoid contraction is greater from element to element than Lanthanoid
contraction.

(@) HHUT GIe 9T g 3 A I IRD B B B &l
Transition metals and their many compounds act as good catalyst.

26. FreT 3T @ eaFgds e aur A &yl & SRR dife-

Read the following passage carefully and answer the questions given below -

B quT samie SRl I efteergs ARl dnr sfufparst & Sl o smar

ST At Searee B &1 Biftw wu ¥ oiteass # dadt ve 0N €3 3MER & Ay

ﬁwﬁﬁﬁwﬁﬁﬁm@m%qﬁwﬁﬁﬁwﬁuﬁqﬁmﬁ%mﬁﬁa

ST I TS F SRy 3 aRAl &1 Snagiie U 3, oftseiss S o s s

Rpameier 2 & ot ofteeTes & o ¥ dleH! § 3uRerd ar eftee T Beie T

¥ TR T B 3G THTE B A HH B a7 &1 AR, g i HE S
°f aﬁmmmﬁwﬁwm%ﬁaﬁﬁaﬁﬁq%spz%ﬁa

BT T T P A civead BT &1 5 9fHAT § BT oY HehRUT 3R sp2 ¥ sp? &l Sl

& AT U IEPASR TehIaTSS Hedad! (Wid S 1 g Heddd AichdT A | U

M T80T X fagd A 3E &l &

Aldehydes are generally more reactive than ketones in nucleophilic addition

reactions due to steric and electronic reasons. Sterically, the presence of two

relatively large substituents in ketones hinders the approach of nucleophile to
carbony! carbon than in aldehydes having only one such substituent. Electronically,
aldehydes are more reactive than ketones because two alkyl groups reduce the
electrophilicity of the carbonyl carbon more effectively than in former. A nucleophile
attacks the electrophilic carbon atom of the polar carbonyl group from a direction
appoximately perpendicular to the plane of sp? hybridised orbitals of carbonyl
carbon. The hybridisation of carbon changes from sp? to sp? in this process and

a tetrahedral alkoxide intermediate is produced. This intermediate captures a

proton from the reaction medium to give the electrically neutral product.

(@) "ERr dmere AREant & Ui e, tHE 3 9 fhaend adr §, e

Acetone is less reactive than ethanal towards nucleophilic addition reactions,

why?

(@) CH,CHO @ 31 NaHSO, ¥ fi5am 8rit & df BIF 1 e ST &2 I f+Tch FHHROT
aifsrel 1
What product is formed when CH,CHO reacts with NaHSO,? Give chemical
equation.

(M) udFE @ HCN & Wy 3ifufesar &t fopanfafer el 2
Give the mechanism of reaction of ethanal with HCN.

KKK kK XK
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